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1 X 2 6 2
If * = . then x is equal to
18 x| |18
(A) 6 (B) £6 (C) -6 (D) 0
2 Let A be a square matrix of order 3 x 3, then | kAl is equal to
(A) kIAl (B) k*1Al (C) KA (D) 3k1Al
3 Which of the following is correct

(A) Determinant is a square matrix.

(B) Determinant is a number associated to a matrix.

(C) Determinant is a number associated to a square matrix.
(D) None of these

4 If area of triangle is 35 sq units with vertices (2, —6), (5, 4) and (k, 4). Then k is
(A) 12 (B) -2 (©) -12, =2 (D) 12,-2

[fA=|d; @y daxfandA, is Cofactors of @, then value of A is given by
By gy Hg

(A) all A3l+ all A?l + al3 AU (B) all A|l+ all All + “13 A.H

(C) a!l All+ a22 A12 + aZ? Al‘ (D) (l“ All+ all All + a*l A.‘)

6 Let A be a nonsingular square matrix of order 3 x 3. Then ladj Al is equal to
(A) 1A (B) 1AF (C) IAF (D) 31Al
7 If A is an invertible matrix of order 2, then det (A™') is equal to
1

Find the inverse of each of the matrices (if it exists)

2 2 -1 5
8 9 10
4 3 -3 2

= o -
= k2 b2
L = L
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1 0 0 2 1 3 1 -1 2
11 3 3 90 12214 -1 0 3{/0 2 -3

3 2 =1 -7 2 1 3 -2 4
9 Let A 3 ¥ dB o8 Verify that (AB)' = B! A!

et A= ) 5 an =17 9| erify that (AB)' =

3 1
10 | IfA= [—l 2]. show that A — 5A + 71 = O. Hence find A™'.

1

I 1
11 | For the matrixA=|1 2 -3
2 -1 3

Show that A*~ 6A%2+ 5A + 11 I = O. Hence, find A

12 2 -1 1
fA=|=1 2 =1
1 -1 2
Verify that A* — 6A% + 9A — 41 = O and hence find A"

13 | Solve the following system of equations by matrix method
3x—2y+3z=8

2x+y—-z=1
4x—-3y+2z=4

Solve system of linear equations, using matrix method.

Sx+2y=4 r 2x—y=-2
14 | Tx+3y=35 3x+4y=3
2+y+z=1 X—-y+z=4
3
16 | x-2y-z=73 17 | 2x+y-32=0
3y—5z=9 X+y+z=2
2x+3y+3z=5 xX—-y+2z=17
18 | x—2y+z=-4 19 | 3x+4y—-5z=-5
3x—y-2z=3 2x—-y+3z=12
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